Adda

e

DSSSB
PRT

Previous Year Paper

General Section
15 Nov 2019 Shift 1 Hindi

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR4l7|

132 Prime

ALL EXAMS, ONE SUBSCRIPTION

—— e —
80,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt

600+ 20,000 + Previous 500%
Exam Covered Year Papers Refund

ATTEMPT FREE MOCK NOW



https://applink.adda247.com/d/5zsmwiLHz7

Adda247

GOVT. OF NCT OF DELHI
Delhi Subordinate Services Selection Board
FC-18, Institutional Area, Karkardooma, Delhi — 110092.
www.dsssb.delhigovt.nic.in

iON Digital Zone iDZ 2 Sector 62

Test Center Name

Test Date 15/11/2019

Test Time 8:30 AM - 10:30 AM

Subject ASSISTANT TEACHER PRIMARY
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[1\

Question ID : 71939924076 J

Q.2 A Ry 7T ust F 5 U HR I 918 39 HUA! wR enRa o FAewd Ry g §1 Ry g
HYAT &l TE A, TR T8 A= A d2al @ RHar g Gt s ue ok iRk fRufRa &1 e
g g = & frsend, g g sa=l & SR wR giha &)

HY:
L.t J, Mgl
I.FSM,AgI

farseptS:
LAEA JaST 2l
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25 2. et e | IIgERoT g 21
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of 4 @ of Frene srgeRor 78w 21
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l Question ID : 71939924066 J

Q.3 U RAfAE s vt &, ‘GRIPS' &Y ‘71891619 forar sirar &, ‘FRAME’ @t ‘6181135’ farar srar
2159 IS 9T & ‘'JEANS’ & <his RIT 82

Ans 110411491
X 2.15011491
5 3.15114901
o 410511419

Question ID : 71939924062 ]

Q.4 forait ¥@End =g §?

Ans x1_20
2.9
K 312
o 421

Question ID : 71939924071

Q.5 A pen is rotated by 372° in clockwise direction. Then, it is rotated by 476° in anticlockwise
direction. Again, it is rotated by 234° in anticlockwise direction. It is finally rotated by 458°
in clockwise direction. Now, it is pointing towards east direction. In which direction it was
pointing initially?

Ans X" 1 North west

J 2. North east
x 3. South east

x 4. South west

Question ID : 71939924073

Q.6 fmfaf@a s # Ry g fawedt § @ d«fda srari o gl
KR:NU:TV:?
Ans x 1.7B
o 2wy
K 3.xz
X 4.vx

Question ID : 71939924060

Q.7 In the following question, select the odd word pair from the given alternatives.
Ans X" 1. Utensil : Spoon
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« 2. Shirt : Garment

X 3. Stationery : Pencil
x 4. Furniture : Chair

Question ID : 71939924059

Q.8 Ry 7Y &St St AigR W, fA=fafEa d @ &= a1 u=1 g9 S Gehdr &2

3
Al9]|8]|7
C
<D 2 &2
I IT III
Ans X" 1 e I
o 2 Faa
25 3. 1@ i &
p EAECHEE

Question ID : 71939924075 ]

Q.9 U igeRd o wan g, o 9 uah ug g 81 Ry g faeeal | 9 ag 98 fawey gfag, sit
STIshH i GRT

GK28, KF40, 0A52, 2, WQ76
Ans X" 1 TVve4

75 2.sU64
W 3.5v64
75 4.TUe4

Question ID : 71939924057

Q.10 XA+ B w1 3rf ‘A BT foar @, 'A-B' &1 3f ‘A, Bhr aga 2, ‘A + B' 1 31f ‘A, B ueft &',
‘A x B' @1 31 ‘A, B &1 g7 ¢, af fafaif@a & @ o= @1 'S &t P &t s g2rfar 82

Ans X1 A+QxR-S=+P
X 2R+SxP+Q
X 3 R+PxS-Q
o 4 PxQ:R+S-A

Question ID : 71939924065

Q.11 A R g ust # F& HUT 3R I7F 918 39 HYH! WR uTRa Fo Feand g g &1 g g
HYHI hl TE A, TTg S0 A A9 a2t J fR=mar gt Foft fsed o ok e Ruffa &2 f
g g i & s, g 19 wuEl & SR R g €1

FHYU:

I. g o1, A g1

1. i e, emsh T g1
1. SYE Terehl, Tthe T8 §1

forser:
1. TS ke, #TeT T1 21
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II. & die, 1 &1
I, Fs Tereht, diem 71 1

Ans 1 S Forsend | e 111 SIgER aRa &
of 2. 2 e | @ 111 srgERor @ B
25 3. T ey srgeror & 81
75 4. are Freend 111 SrEROT T B1

Question ID : 71939924067 J

Q.12 = &} IwR 31Tepfer uet sriepfar & ufasu &t grr &wfi?

@170
ot/

A
O
- @

[

W 4

Question ID : 71939924074

Q.13 5&Si: P Q,R, SauT T du1 5 @fhal : J, K, L, M a1 N # IR el &t g & gardt st
gl f=fafRaaaf st eamdwE :

(A) P aum M gaizm 91y # g4 S|

(B) N aut L 9o & 7 =7 gl

(C) R AT T A2 T a7 & gl

(D) &% ¥ 7 @ T Tak dIs<h! gi-l =1f@al

Fr=fafaa 7 9 &= 6 &9 & et 5wt 87
I.LPMJL

ILQSRP

n.LMmQp

IVLRTN

Ans o 111 I T IV

p ALY
25 3 @
25 4@

Question ID : 71939924064
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Q.14 Uk s o man 8, s & ues ug 71ed 81 3y 71g Rl & & 39 ea ug &l gAg)

ROMD, XWGY, DEZT, JMSO, PULJ
Ans X1 XWGY

o 2. rROMD
5 3.UMs0
75 4.DEZT

GET IT ON

Google Play

Question ID : 71939924058

Q.15 ag i gAY Sit = Ry 7g anif & fra & Heter @ ah Ao w=ar g1

3TeTqeh, HICT, Yoy

Ans

r 0

Xz@)
v | QD

o OOO

Question ID : 71939924070

Q.16 Bg @sfAArF, G, H, J, K a1 L Tes tfth # Sw &l 3k 7@ aeds a8t g8 & (S8 781 it s<ft s &
&)1 L aur K 8Ri w38 g3 &1 F a1 K & 9ed Faet G 81 J, H & i arfi 3k 81 G, F & gia ardi

3R &1 91 BR @ F <hl TATH AT 87

Ans X‘lm

o 2. <

25 3. e

4 d

Question ID : 71939924063

Q.17 Uk s o mar 8, s @ uek ug 71ed 81 Riw 71g fareredl & 9 39 weta ue & gfAg)

44,22, 33,72.5,288.75

Ans X" 133
K222
75 3.288.75
4725

Question ID : 71939924069

Q.18 Shweta starts walking. After walking some distance, she moves left. Now after some
distance she turns right. After some distance she finally moves right. If she is facing
towards south, then in which direction she started walking?

Ans X" 1 South

X 2. West
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x 3. North
f 4. East

Question ID : 71939924072 ]

Q.19 g 43P16M19=46 T 11M13P 12= 128, @t 16 P18 M24 =2
Ans X1.32

22

253,30

5 424

Question ID : 71939924068

Q.20 fr=afaf@a us # feg g frereat & & wefda srar gm &1 gl
MOK:STS ::?
Ans & 1 LIP:RQH
5 2.GOM: MNU
o 3.RGM:XLU

75 4.RAP:XFY

Question ID : 71939924061

Section : General Awareness

Q.1 @5 ud &6 ok g vel <ier F=faf@a d | frw wRea wsa & w=mar sar &2
Ans x 1.39H

o 2 fEr

75 3 Rife

75 4. sifesm

Question ID : 71939924077 ]

Q.2 WRd & Rdses 3R Agrerar uiareh & wrafaa & ar # fA=fef@d syl d @ o a1 g 18 82
Ans X' 1 3% U @ g & ufdkan iR SMUR e e & i & forg g &)

75 2. i ofR weTeraT Tiarh h TelTg R AFU 3R T o 7l & el & APl & w9 A 5
TRE T S|

5 3. 9RA & ek SR HgreRaT wdierd: &1 Figfh Tgafa grRT & S 21
\f4.agmmwm¥ﬂqﬁ#é?mﬁammawa?agasﬂﬁ%aﬂufmé?ﬁqqﬁél

Question ID : 71939924094 ]

Q.3 Hgrew Attt ZR1 A foha Taamig A fesr SRR & f@ems ugen sif@e R o
feram?

Ans &1 Qe Tamg
5 2. IgHerETE 9amE
25 3. duRv g=@mE
(4.27638@@3

Question ID : 71939924089

Q.4
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Ans

e &y fore @ @ Haifda 82
VAR
K 2. Tew
X 3.8
75 4 Rrde

Question ID : 71939924096

Q.5

Ans

wexrge HeT @ Hulla fafof@a d & oa-a1 sy mea g2

; 1.@2?3?:136 oRfetres T 2T g &F%Qé}?ﬂ o JWRfeaef g2 IuTSTRfes T Sera geﬁ:‘ﬁ
I gidt 81

(z.memﬁmHmmﬂmm,Wmeﬁﬁwﬁwﬁﬁ%
< 3.2 vl W o AR & sRoT eroT duT fRTEe & 379 81 &1
5 4. dexrdge wer urd) At & HRoT STt SR @ uRer 21

Question ID : 71939924086

Q.6
Ans

fFrafaf@a 7 @ wi=-a1 urpfae Sid-srd 1 g 98 @& § @ @rar g?
5. o e - Afeen
2% 2. el - Adeiigh ot
V3. TR - st ant
X 4 gaw - Wehfees o

Question ID : 71939924083

Q.7

Ans

Frafafa@a d§ @ aiF a1 waus FAreT & A @ wRdta @i grRr Sur T8 o mar 82
o 1.7 e & g aewt & A
5 2. T s & 1Y et e
5 3. s gRI e & euuTe i PgfRe

25 4. Feaaw =rarerd &1 sl Fofae

Question ID : 71939924093

Q.8

Ans

The Annual Financial Statement of the Government of India shows the receipts and
payments of government under which of the following government accounts?

I. Consolidated Fund

Il. Contingency Fund
11l. Public Account

25 1 irand i
X 2. 1andl
25 3. 1and Il
o 41 1and i

Question ID : 71939924080

Q.9
Ans

wRa # ffaf@e 7 @ w9- o ag-agof duor wae T8 87
X 1w
o 2.
X 3.
25 4 e

Question ID : 71939924085
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Q.10 Which Department under Ministry of Finance has principal responsibility of preparation and
presentation of the Union Budget (including Railway Budget) to the Parliament and budget
for the state governments under President’s Rule and union territory administrations?

Ans X 1 Department of Expenditure
“ 2. Department of Economic Affairs
X 3. Department of Revenue

X 4. Department of Investment and Public Asset Management

Question ID : 71939924079

Q.11 Which of the following cell organelle is involved in the formation of lysosomes?
Ans “ 1. Golgi apparatus

7% 2. Plastid

X 3. Mitochondria

X 4. Vacuoles

Question ID : 71939924081

Q.12 2019 R afgen g w@er A=A fFaa sfid?
Ans X' 1. &ftrenT deeiicher ahfeich

5 2. SR faeh

J3.Gﬁamf%r—rm1

X< 4. g g

Question ID : 71939924092 ]

Q.13 3AMEUTUE fagy vuafeerT A=A 2019 k1 ASTa™ &9 H7m?
Ans X" 1 fifSi
25 2. IR

X 3.uk|

 odm

Question ID : 71939924095

Q.14 weraTeH A1 d IpE TIE & g e SR o1 Jaiea 99 St 9 Sad sars, 2019 7
fora rfaar/faRsi &Y wer= forar mar 82

Ans X 1 roareredt

o 2 s

75 3. amsfty Rreneff
5 4. seh sfigAR

Question ID : 71939924091

Q.15 =@ & @ @iF-ar sigtisr WRa o &) srreR €l 3 frnfora swar @2
Ans " 1.22°30N

5 2.23°15N

o 3.23°30N

5 4.23° 45N

Question ID : 71939924084 ]
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Q.16 TSIt AUT Tk AMEhI A o FU H ST S a1et A-ITH1IhT hl ST & JaaR & w0 J
g famam

Ans X1ﬁa‘cﬁ
& 2 @S
25 3. ardt

4=

Question ID : 71939924088 ]

Q.17 HRffwiv, a1 efer sife &, TG helT Aeft T T T
Ans X' 1 goerd

25 2. =it

o 3. G

p R

Question ID : 71939924078

Q.18 1905 #, foFT T IERTT A 7T <hT fAuTST R R ur?
Ans X 1 grrERm Rus

2 T a

25 3. AR Rt

X 4. e e

Question ID : 71939924087

Q.19 "&Rr Sfieq, &1 R =@ J @ fore uftg e $i strerear 82
Ans x 1. 3reet g arorodt

X 2. 3ffAd A8

25 3. siftrar s

W 4 sareeRa

Question ID : 71939924090 ]

Q.20 & Hafda dtei & v yor At glar &1
Ans J‘Lq’f@'{ﬁ;q’;f

X 2. smirger

p RS

X 4. defhrger

Question ID : 71939924082 ]

Section : Arithmetic Ability

Q.1 fAdeh aur AR srhel Qeh i ohl shwet: 42 T T 56 R # gqR1 e Tehet &1 fades aur Aifga
ek 1Y $TRY et & Udg Alfad Y & 12 R & ugyyra &rf ois &1 81 3w & 1 vt 7
e fopat Rt efit?

Ans X' 1 18R
W 22fA
5 3.15Ra
X 4.24Ra
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l Question ID : 71939924111 J

Q.2 = Rar o g o gan g o1 & Tatg & fAfva At wr o aret gard sieret i S @t
garfar g1 foneht fafre R R ST a1t gard wTeTet 6t T &t 9+t Rl ur o= aret et gard
STETST ht He&aT & wu § g2rfar mam 81

D4 1 ZRT a=TaT AT FER 0T Tt 22
Ans X1 440
2180
5 3.30°
W 4.504°

Question ID : 71939924114

Q.3 faeha geg o siftha gea & orquTa 3 : 7 §1 @e o1 ufdera o g?
Ans X" 1 4285 ufda

/X 2.56.14 ufaera

5 3.48.56 wfaa

o 4 5714 v

Question ID : 71939924102 ]

Q.4 Jiten calculates the profit/loss on selling price. Jiten sold an article G at a profit of 20% and
the cost price of article G is Rs. 1200. Prem calculates his profit/loss on cost price. Prem
sold a article M for Rs. 1125 at a loss of 25%. What is the ratio of cost price of article M to
the selling price of article G?

Ans x1.2;5
2
K03.1:3
K432

Question ID : 71939924105

Q.5 9mae & e &t 55% @ TS 7T 81 T i A @ & g Gep ot i it @ue foha+t
uferera & &8 & & Tfgg?

Ans  of 1 3548 0fE
5 2.39.85 ufara
75 3.37.83 ufdera
5 4.36.53 Hfard

Question ID : 71939924103

Q6 56— 2x4-8—3+10+8

5

I AT T g2
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Ans x1.4
25
X 3.6
K47

Question ID : 71939924098

Q.7 dg 9<% 9 ST T @ Sit 728 dUT 900 ht fAwfSia e uR AW shHar: 8 auT 4 FEnelt 82
Ans 115

o 216

/5324

75 414

Question ID : 71939924099

Q.8 Ueh ATTd b1 ufATY, Geh T Y aRfY & sReR & Sweh Bsam 21 &40 g1 af smaa o1 gawa
864 9.71.2 8, @t straa & farof Y evars wam ghir?

Ans X" 1 9v83 @t
o 2 6v73ah,
75 3.6v87 @
25 4.5v1023.4.

Question ID : 71939924113

Q.9
i M oy Sy 2
4|2+ 22|+ 843 —2)x44+3—7 ST HI HT 27
7 lg [9 9] 9‘ L ®

Ans X1 4
X 2.39/7
W 3.20/7
S 46

Question ID : 71939924100 ]

Q.10 == f&ar mar 2vs R Uer 2reR & faf= i & sreamuen! &Y S ot garfar 21

NCATFHT H TEAT
= Pl Ll
o000

2 S R

B —1s

C6 i & sreamueni i Twear ft R & get sreaTuehl i T & fra ww g2
Ans X' 1204

52,210
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503,202
o 4206

Question ID : 71939924116 ]

Q.11 UG 37U ST AT FS W W AT & TAT AT W T § | IHF T FUT T4 T ITATd
SHLT: 4 1 5 31 Afe gt Y 2ma 90000 T &, T IWeRT STy T giT?

Ans  off 1. 40000 7
% 2.30000 35
75 3.35000 ¥
7% 4.50000 35

Question ID : 71939924106

Q.12

5,3%mn§$rwﬂﬂmaéa¢rﬂn§?

Ans  of 1 6/17

& 2.3/8
X03.3/14
4317

Question ID : 71939924097 ]

Q.13 40 &.#., 35 .71 aur 20 V.. T aTet Tk BIT TN Y TR 4 /.5, ¥t aret IAE
O SHTY ST &1 31 91 T 20% frare=t F @R1e gt Siren 81 31 ue Y gt Seean o g2

Ans X' 1 440

75 2.380
< 3.400
o 4.350

Question ID : 71939924112 ]

Q.14 Yok TheR ARFAd o & 1% 36 R, Hi./eer it wfa @ gt & aur avwd e § uge 30 fh.at/
g i fer & TedT § 1 A B S 91 98 ok AN gt &l 2 92 F a9 ot 1 79Hd e 9
UgH dg A G} ol a7 et A et S ?

Ans &1 24/7
25 2.24/56
X 31278
o 41258

Question ID : 71939924110

Q.15 3242 TR RN AN F X, Y a1 Z A 39 UahR RAwfSa e mag frafy X, yawr z & i g @
HAA: 18 FTUR, 13 TUY AUT 11 TUD hd o Y 1Y, &Y Ik T 3: 6 : 7 & rqura | gt Z &1
a7 e s/ @2

Ans  of 1 1400 T
52,9753
5 3.1200 35
25 4.900 zu

Question ID : 71939924107
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Q.16 The radius of a sphere is firstly decreased by 33.33% and then increased by x%. If there is
no change in the surface area of sphere, then what is the value of x?

Ans X175
5 2.30
50325
W 4.50

Question ID : 71939924104 J

Q.17
aﬁA=+;a’r 24A T HIT T 0

Ans X' 1.13/4

< 2.13/40
25 3.13/12
o 4132

Question ID : 71939924101 ]

Q.18 == A man Y& forst ges 2reR & faf = gieet A amafial i d@=ar ot gerfar &1

90 1 80
80 -
70 - 66

60 - 51

50 4 4

2ol

20 A
10 4
ﬂ T T T T T 1

Hl H? H3 H4 H5 Hs

ged

qEfeat #r g

afg A glest H2 a1 H3 & et amaffal Y T ) fAsfa @ear § aur B glest H1 aur H6 & et
Trafial i d=ar w RS war @, 9t B, A o1 faran ufasea &2

Ans X' 1 13437 gfis@
X 2.122.37 ufera
5 3.130.31 wfeR
o 412631 o

Question ID : 71939924115 ]

Q.19 Qe 500 Hiex ==t ISt 36 6.+t /eer Y nfa @ 7« Y 81 AR a8 vk gt 1 70 v d ur
et @, @t gt <t o T 22

Ans X" 1 300 Hfiex
o 2. 200 iz
25 3,100 iR
5 4. 400 HiR

Question ID : 71939924109 ]
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Q.20 A sum becomes Rs. 21000 on compound interest (compounding annually) after one year.
This sum becomes Rs. 22050 on compound interest (compound annually) at the same rate
after two years. What is the annual rate of interest?

Ans ( 1. 5 percent
x 2. 15 percent
X 3. 10 percent
x 4. 12 percent

Question ID : 71939924108

Section : General English

Q.1 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

The country (1)/ expect us to (2)/ do our duty (3)/ No error (4)

Ans x1.3
K 2.1
W32
p W

Question ID : 71939924117 ]

Q.2 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

| congratulated him his promotion.

Ans X 1. for

x 2. because of

x 3.dueto
J 4.0n

Question ID : 71939924122 ]

Q.3 Rearrange the parts of the sentence in correct order.

P: in schools

Q: other activities

R: take precedence over
S: academic subjects

Ans X" 1 QPSR
5 2.SRPQ
o 3.srRaP
75 4.PQSR

Question ID : 71939924123

Q.4 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Life and soul
Ans x 1. All over

x 2. Energetic
x 3. Old people
“ 4. Main support
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l Question ID : 71939924130 J

Q.5 Choose the word that is opposite in meaning to the given word.

Courtesy
Ans " 1 Expand

X 2. Praise
f 3. Obstacle
X 4. Discord

Question ID : 71939924125 ]

Q.6 Improve the bracketed part of the sentence.

It does not take much to (make) her angry.
Ans X" 1 makes

f 2. No improvement

X 3. making
X 4. made

Question ID : 71939924120

Q.7 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Head over heels
Ans 1 Living is luxury
#5 2. Here and there
“ 3. In love with

X 4. A strange person

Question ID : 71939924129 ]

Q.8 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

Flowers

the beauty of our surroundings.
Ans X" 1 embellishment

( 2. enhance
X 3. replenish
X 4. destroys

Question ID : 71939924121

Q.9 Choose the word that is opposite in meaning to the given word.

Spiritual
Ans 1 Legal

X 2. Earthly
o 3. Bodily
X 4. Carnal

Question ID : 71939924126 ]

Q.10 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans
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J 1. Ambassador
X 2. Ammbasador
x 3. Ambasader
x 4. Ambbassador

Question ID : 71939924127

Q.11 Improve the bracketed part of the sentence.

The teacher (agree) to answer all the questions.

Ans X" 1 has agreeing
x 2. No improvement
x 3. agreeing

J 4. agreed

Question ID : 71939924119

Q.12 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans X" 1 Banefitle
x 2. Benefitial
x 3. Benificial
“ 4. Beneficial

Question ID : 71939924128

Q.13 Rearrange the parts of the sentence in correct order.

P: high fever and

Q: on her bed

R: she laid motionless
S: she had

Ans X 1 PQRS

25 2.SPQR
5 3.SRPQ
W 4.sPrQ

Question ID : 71939924124

Q.14 Choose the word that can substitute the given sentence.

A person who sells and arranges cut flowers.

Ans & 1. Petrology
X 2. Zoology
x 3. Sculptor

f 4. Florist

Question ID : 71939924131

Q.15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Everybody admitted (1)/ that she has (2)/ doing her best (3)/ No error (4)

Ans o1 3
K 2.4
K032
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Question ID : 71939924118

Q.16
Ans

Comprehension:
Read the following information carefully and answer the given questions.

Big dams received a big push from politicians and bureaucracy pouring enormous amounts of
borrowed money in the early years of Independence. There has however been hardly any
attempt at questioning the extent of damage caused or in evaluating whether the promises of
food, water and prosperity for all have actually been realised. The diversion of rivers and
construction of a long system of canals in a densely populated country like India will involve
displacement of people on a colossal scale and the people affected are never likely to agree
with such measures. All over the world, community reaction is to prevent construction of large
dams. Preserving rivers in free-flow condition is considered ecologically necessary and the
construction of large dams is now legally prohibited in Sweden and also in parts of USA. The
technical challenges to be faced in redrawing the geography of the country are many and full
of dangerous consequences and the mad rush in pursuit of such a chimera will prove
disastrous. The cost of the project is so stupendous that any water made available will cost
so much that governments will have to be forever subsidizing farmers. What long-term impact
this massive borrowing will have on the economy is difficult to foresee.

SubQuestion No : 16
Which of the following is not true about the water made available through dams?

K 1. The water so generated is mainly used in agriculture.

x 2. The government gives subsidy to the farmers due to high costs of the water from
the dams.

x 3. The water made available through dams has high costs associated with it.

\f 4. The water so generated is mainly used in washing.

Question ID : 71939924136

Q.17
Ans

Comprehension:
Read the following information carefully and answer the given questions.

Big dams received a big push from politicians and bureaucracy pouring enormous amounts of
borrowed money in the early years of Independence. There has however been hardly any
attempt at questioning the extent of damage caused or in evaluating whether the promises of
food, water and prosperity for all have actually been realised. The diversion of rivers and
construction of a long system of canals in a densely populated country like India will involve
displacement of people on a colossal scale and the people affected are never likely to agree
with such measures. All over the world, community reaction is to prevent construction of large
dams. Preserving rivers in free-flow condition is considered ecologically necessary and the
construction of large dams is now legally prohibited in Sweden and also in parts of USA. The
technical challenges to be faced in redrawing the geography of the country are many and full
of dangerous consequences and the mad rush in pursuit of such a chimera will prove
disastrous. The cost of the project is so stupendous that any water made available will cost
so much that governments will have to be forever subsidizing farmers. What long-term impact
this massive borrowing will have on the economy is difficult to foresee.

SubQuestion No : 17
Which of the following have been mentioned as disadvantages of dams?

x 1. Construction of dams is prohibited in Sweden
x 2. Displacement of people on a large scale
K 3. Ecological imbalance due to restrictions on the flow of rivers

\f 4. Displacement of people on a large scale and ecological imbalance due to
restrictions on the natural flow of rivers

Question ID : 71939924135

Comprehension:
Read the following information carefully and answer the given questions.

Big dams received a big push from politicians and bureaucracy pouring enormous amounts of
borrowed money in the early years of Independence. There has however been hardly any
attempt at questioning the extent of damage caused or in evaluating whether the promises of
food, water and prosperity for all have actually been realised. The diversion of rivers and
construction of a long system of canals in a densely populated country like India will involve
displacement of people on a colossal scale and the people affected are never likely to agree
with such measures. All over the world, community reaction is to prevent construction of large
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Q.18
Ans

dams. Preserving rivers in free-flow condition is considered ecologically necessary and the
construction of large dams is now legally prohibited in Sweden and also in parts of USA. The
technical challenges to be faced in redrawing the geography of the country are many and full
of dangerous consequences and the mad rush in pursuit of such a chimera will prove
disastrous. The cost of the project is so stupendous that any water made available will cost
so much that governments will have to be forever subsidizing farmers. What long-term impact
this massive borrowing will have on the economy is difficult to foresee.

SubQuestion No : 18
Which word is similar in meaning to displacement?

K 1. Inaction

x 2. Stagnation

x 3. Inactivity

( 4. Dislocation

GET IT ON

Google Play

Question ID : 71939924137

Q.19
Ans

Comprehension:
Read the following information carefully and answer the given questions.

Big dams received a big push from politicians and bureaucracy pouring enormous amounts of
borrowed money in the early years of Independence. There has however been hardly any
attempt at questioning the extent of damage caused or in evaluating whether the promises of
food, water and prosperity for all have actually been realised. The diversion of rivers and
construction of a long system of canals in a densely populated country like India will involve
displacement of people on a colossal scale and the people affected are never likely to agree
with such measures. All over the world, community reaction is to prevent construction of large
dams. Preserving rivers in free-flow condition is considered ecologically necessary and the
construction of large dams is now legally prohibited in Sweden and also in parts of USA. The
technical challenges to be faced in redrawing the geography of the country are many and full
of dangerous consequences and the mad rush in pursuit of such a chimera will prove
disastrous. The cost of the project is so stupendous that any water made available will cost
so much that governments will have to be forever subsidizing farmers. What long-term impact
this massive borrowing will have on the economy is difficult to foresee.

SubQuestion No : 19
What is the thematic center of the passage?

J 1. Dams have proven to be bane rather than boon in the long run.
K 2. Following the footsteps of Sweden and USA in banning the construction of dams.
x 3. The social impact of dams over rides their economic impact.

x 4. Dams have proven to be bane rather than boon in the long run and the social impact
of dams over rides their economic impact.

Question ID : 71939924133

Q.20
Ans

Comprehension:
Read the following information carefully and answer the given questions.

Big dams received a big push from politicians and bureaucracy pouring enormous amounts of
borrowed money in the early years of Independence. There has however been hardly any
attempt at questioning the extent of damage caused or in evaluating whether the promises of
food, water and prosperity for all have actually been realised. The diversion of rivers and
construction of a long system of canals in a densely populated country like India will involve
displacement of people on a colossal scale and the people affected are never likely to agree
with such measures. All over the world, community reaction is to prevent construction of large
dams. Preserving rivers in free-flow condition is considered ecologically necessary and the
construction of large dams is now legally prohibited in Sweden and also in parts of USA. The
technical challenges to be faced in redrawing the geography of the country are many and full
of dangerous consequences and the mad rush in pursuit of such a chimera will prove
disastrous. The cost of the project is so stupendous that any water made available will cost
so much that governments will have to be forever subsidizing farmers. What long-term impact
this massive borrowing will have on the economy is difficult to foresee.

SubQuestion No : 20
Which of the following statements is true?

K 1. Most of the countries have banned the construction of big dams.
\f 2. The diversion of rivers will involve displacement of people on a colossal scale.

x 3. The water made available through dams is better suited for industries than
agricultural because of high costs.
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x 4. The water made available through dams is better suited for industries than

agricultural because of high costs and most of the countries have banned the construction of
big dams.

Question ID : 71939924134

Section : General Hindi

Q.1 fR g arery &1 @I 719 R
3R 87 T, g4 at ag = 7 &= ugan
Ans X 1. srof sgererer
25 2. gftre ayeepret
3 3T
X 4. gofya

Question ID : 71939924147 ]

Q.2 fF=fafae g | Yaifeha o1 @ R4 s 21 711a RSl
&4 @il & o1 3= iRl
Ans X 1. son
X 2. st
X 3. srgmor

43

Question ID : 71939924141

Q.3 2y g are F fora foarm Rig &1 Iuni fean siem 39ht ugam fifsigl
el TE1 Tl bt 7d
Ans &
XZ.;I
X3
v o

Question ID : 71939924151

Q.4 3y g Rk Tu= & Iugeh JeraR &1 9g+ FifSigl
AR A FSaemRATRIT_____ @I
Ans XTGT@EFW
25 2. ST
X 3.z
o 4 R

Question ID : 71939924149

Q.5 fg g "nsa (AT 2reg & 3fRa oref w1 RifSIgI
3nfe-amrél
Ans X" 1 SRR aT ST : SR
XZ.Rﬂ’s’R:TiZT

f&aﬂ?’ﬂ:a{%
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25 4.9 /R

Question ID : 71939924143

Q.6 fRy 7 aray # sregg A AT
At a1 Ter @ gt & 21
Ans X 1. e sema
2. s s
X 3. fexrarees s

5 4. wraTs ey

Question ID : 71939924138 ]

Q.7 fg g areril # fhe WehR &1 g § A1 hifSig|

TR ST AT A age & g 1
Ans (1.1122111

& 2.vum
p
p R

Question ID : 71939924146 ]

Q.8 Ry 7y gerR @1 orf 7 ffSigl
geTed A e
Ans ‘f1_§f@,—dﬁm
X 2. g
< 3. o ot et
25 4 fRam

Question ID : 71939924150

Q.9 Ry g arwil 7 @ g[g arerr 7 Hifigi

Ans X 1. I &e Bl SR STeTeh Tk TG
“2. ST & ohi SR STeTeh dieh T |
25 3. SraITch & oht e STTeTeh oA wfich T
2K 4. ¥ Y 3R STk STforeh! <fieh T

Question ID : 71939924145 ]

Q.10 g 7Q arerr # IUGH A T TT hech e hi gfd FifSg

U S eM@E__ HomA |
Ans X1 SEa

p A
35
75 4. 37 Ry

Question ID : 71939924142 ]

Q.11 3y 71 21z 1 yafgarh @9 Rl

L3

|1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Ans X’Img'\ﬁ'
X 2w
X 3.2
\f4ﬁmr\f

Question ID : 71939924144

Q.12 g 7Y gerer @1 oref 71 RfSigI
3T T STl FRAT
Ans X1 OF oA

5 2. 3T e
5 3 wgawR
W 4 T & e AR e

Question ID : 71939924152 ]

Q.13 2w 71q gt A foRar wra Al
e 3 geae @ e = fRam
Ans " 1 s arg R
5 2. wigeh foa
25 3. St
4 e R

Question ID : 71939924139

Q.14 Q71 2reg &1 U 79 HifSgl
ST gifgd
Ans X1 oriyRg THR
o 2. FegEy T
25 3 R
X 4 sgshfe Targ

Question ID : 71939924140

Q.15 2w 7q arerr & aren 719 QI
I 9 ¥ # Srer gl sl
Ans X" 1 gar
X 2. ogef
#< 3. wrar

JA.arcj—crwz

Question ID : 71939924148

Comprehension:

ek TR T T &1 RIS i eTYEeh U T Uk U & IR [Jenenl # 4 Tgt faehed I

<ol farsy & 8 77 bt Siaig wigen Raw 7emaT <11 21 36 Raw &l 7 &1 S T &t 36
SfIRRY & ufa TieaTfed e I8 TR B T STawR UG e & [ 98 AT hael Gg ol I2=h He Toh
qfch Iad TATS & [T Hedayul ahTe & Toh| ¥R §, Afgersil ot Tk s & ford gad gt TaTSsT
7 3% SRR SR Tl AR aTet I Tt el T ent AT STt 1 519~ gt U2, i 2,
STTRAET, 0T T, SITHTT, Afgermait o Ul ey e, o et o A MwoT, a1 Joigd, Jangh, Jra
qER 31| Sft Sl GoT chl 1<k AT ST 81 39 Gord el *1f<h i faerf¥d-ufsend e 3§ TmHfoie,
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3n1fefen, Temfaen =, fIamR, faym, v SfR IUTHHT &t Wd=IdT, SITER Sl TATT Sl GITAER UG el
Bl R GRARKehUT AT ST 6| SaeTd THI S 1Y MY T ol AR Ug— forka o @i 51 98 A
JfARRT o Ul ToT & JUT W 31uAT ol ) &1 91 a8 TR  aTeR Rahetenk 321 & forg sy
Agaqul B et 81 STST St hl B et & ‘ufds sirezofia Y &t 78t & @fth wRdg Tepfa &
SIET & U Uele e & dt R 3fR AR ot Teeeft Y Mt ge & forg < ufgat i ifa A e &1 g
S TSI GERT STLRT T STSIE AT| 37TST 27 § AR A1f<h ot Tt gfE & Tk o9 o v fohd S 2@ 81

SubQuestion No : 16
Q.16 IUH Terir 1 Iugh fefer o gim?
Ans  off 1 TeRhiER

25 2. T8 I s

/< 3. adags v

K 4. T8 TRETR & iR

Question ID : 71939924158

Comprehension:
Qe TTEITRT T T 1 TR eht eATgE T U JUT Uk U o OR fadhenl & & 98 ey g

Tyuf sy & 8 AT oY SieRiga Afgel Raw wemar ST 81 39 faq ot 7 o1 3237 T &l ITd
SfIRRT & ufd TicaTfed e I8 T2AH B T STAR UG AT & [ I8 AT hael Ga ol T2=h e Toh
Ffceh IAd TS & folg He<rayul ThTer & §ch | 9Rd |, Afgesii &l Th a1 & ford T ugel Famst
H 37 S1feRRT R gl ARA aret I ft el G i ARAT S 81 S9- gget v, A g,
STFAET, YOT §T, ST, Aigershi & Ul oy S, o et W A MwoT, a1t Hoigy, IR, AFd
TR STfE| ff ot T <l 21fch AT ST &1 39 Jor <hl 21f<h i faahfia-uiReha o 3§ arTfoie,
31ffe, IreTAfden =ama, faam, fasym, ent ofk IuraAT Y W=, SaeR Y THFAT Sl GITER UG AT
BY A TRIfReRRUT AT STIRRT B | el T & AT YAk g1 i A Ug- fora o W &1 ag St
3fenRY & ufcr gomT & qur w@d 3 fRAvfa ad) 81 3w a8 TREER) & aTeR et 321 & forg gy
Aeaayuf &rf sheet 81 31T St i S 9t gt ufdsr siervfta 3t i 721 & A R Tepfa &
3fIBTH & U= UeTe e 3@ dt R 3R AR ol geeft i Mt Tem o forg & ufgat iy wifa mren mar &1 g
2 FOFT GTRT STRRT AT SRR 71 37sT &7 H Ay *1feh Bt Tt gf® & ek s=m & v fond s <@ 8

SubQuestion No : 17
Q.17 YA g & T Feed @ i fAen &2

Ans o 1 7T vg-foraaR @dT B
25 2. 78 ety @ A ieor & RierR|
2% 3. 78 vo-forae IR Qe 7 &
X 4. 3 SfRRY & ufy FonT e 81

Question ID : 71939924155 J

Comprehension:

Qo T & T &1 Terier o eaTgden U auT Uedeh U o IR [enedl § € T8t faehed IR

Tqul ey & 8 AT ot SiaRTET Afgel g HTaT ST &1 39 Raq &l &1 &1 3237 1) Y 3T
SfIRRT & Ui TIcATTd e I8 T2AH BI ol STAR UG AT & S g AT hael Ga ol T2h He Heh
Ffceh Iad TS & folg Aeg<ayul ThTer & §eh | R |, AfGeTsil dl Tch a1 & fod Jag Ul FHTST
# Ik SHfUHRT SR Hed! sl AR aTet 3 T el e et ARAT St 31 S18- gt e, A e,
STFAET, YOT §T, SFHT, Aige1shi & Ul wRe S, T et W A 21woT, a1t Aoigy, IR, AFd
TR S| it oY GoT= Al 21k J1T ST & | §9 GoT Al 21fch ol faenfia-uRsgd o 38 amifore,
31ffen, ITeTfces =, e, Ty, et SfiR SUTEAT Y T, STaeR T GHIAT el GIHaHR UEH e
B TR TATKehRUT T S & | TaeTd T o |1 Yk i ! AR Ug— forg o Wi &1 98 S1u
S RT & ufa Tor § G T s Aol At &1 91 a8 IREERY T aTeR Meeran? 331 & forg gty
HEdayu o deell &1 TS St Y Bfd 9 g ‘ufes smexvfia Y i 781 & @ifch YR dwpfa &
SfIET & U= Uele o 3@ dt R 3R AR ot eeeft i Mt T & forg &t ufgat Y wifd mrn mar &1 g
o foITT SERT STERT AT SRR AT| 3177 37 # AR} 1<k ot Gt g & e a9 & v fond ST g 81

SubQuestion No : 18
Q.18 wyuf fay & sierfda e Raw e w=rar s 82

Ans  of 1 gurd

KX 2. 5ar

K 31089

K 4 9mr
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[ Question ID : 71939924154 ]

Comprehension:
Qe TTEITRT T T 1 TR eht eATgE U JUT U U & OR fadhenl & & 98 fdehed g

Tyuf ey & 8 ATl ol SicRTE AiRe foaw 7T STaT 21 59 faw o) 7 ol 22T Y ol 39
SfIRRT & Tfd TIcaTfed e I8 T2AH BI T STAR UG AT & I8 I8 AT hael Ga ol T2h HE Heh
Ffceh IAd TS & folg Aeg<ayul ThTer & 9| 9Rd #, Afgsil &l Tch a1 & fod Jag Ugel FaTst
H 37 S1feRRt R gl ARA aret I it el T il ARAT S 81 S9- aget v, A g,
STFAET, YOT §T, ST, Aiger1shi & Ul wRey S, ord et W A 2MwoT, a1t Hoigy, R, AFd
TR STfE| Sff ot T <l A1fch AT SITAT &1 39 Joi chl 21feh i faehfia-uiReha o 3§ FrTfoes,
31fefen, IroTAfres =ama, faamR, fasym, ent ofk IuraAT Y W=, SaeR Y THFAT Sl GITTER UG AT
B AT FRITReRRUT AT STIRRT & | IGeld T & AT YAk g1 i A Ug- fora ahe W &1 ag s
3fepRI & ufer gorT & qur wWd 3= fAvfa ad) 81 39 a8 TIREEAR) § aTex et 331 & fory sy
Heaayuf &rf sheet 81 ST St il SfY 7t gt ufdsr siervfia 3t i 781 & A R Tepfa &
SfIET & U= Uele e 3@ dt R 3R TR ol el i Mt T & forg &t ufgat Y wifa mrn mar &1 g
2 FOFIT GERT STRRT AT TSR ATI 3TST &1 H Ay 21f<h Bt Tt gf® & Tk s=m & v ford i <8 8

SubQuestion No : 19
Q.19 21 # wiF-Ht 21k &t Tt g & A2+ T9 o1 vaTe R 3 82

Ans (1 gez afn
of 2 T i
5 3. waf%
K 4 e afh

Question ID : 71939924156 J

Comprehension:

Qo I A T @1 TErieT o eaTgden U auT Uedeh U o IR fdehedl # § Fl faehed g

Tuuf sy & 8 ATl oY SiaRig Afdel e wean ST 81 39 f3ag o 7 ol 9237 R &l 3T
SfIRRT & Tl AT e I8 H2AH BI o STATR UEH A1 & o194 a6 AT hdel Ga ol TUh He Heh
Ffeeh IAd FHTST & fog Ag<ayUl NG & Teh| R H, AGHATST hl FAh &4 o ford Jod Ugel GHTST
# Ik SAfAHRT SR Fed! sl AR aTet 37 T el e et ARAT St 31 8- gt we, A e,
AT, 0T G, AT, Higerai & ufcr ey G4, rf el R 14 90T, a1 Aoigy, dLamghy, Ara
TR S| it Y GoT= <Al Mk J1T SITT & | §9 GoT Al QMh i fIehfid-uRsghd I8 Frfore,
31ffen, JTeTfcres =am, e, sy, et SfR SUTEAT Y eI, STaeR T THIAT &l GIaER Ta ST
B TR TAHeRRUT T S § | TeeTd T o AT ST Gl &t AR Ug— forg I Wi g1 98 Su
SIfRT & ufa Tor § qn T s Aol Xt 81 o1a a8 TaREART T aTex Reneran? 31 & forg faghw
HEdayu S deell &1 TS St Y Bfd 9o g ‘afes smexvfiy Y &I 61 & wifch MRea T&pfd &
SfIET & U Uele e 3@ dt R 3R AR Bt el i M Tei & forg &t afgat Y wifd mmn mar &1 g
o foIFTT GERT STERT AT SMSRAEI AT| 37T &7 H AR} 1f<h ot G 3 & T2 a9 o v fond ST g &1

SubQuestion No : 20
Q.20 &ft &R -t 2rf=r ot 7T SITaT 82

Ans x1_%;|-r
W 2. g
5 3. ety
X 4. g

Question ID : 71939924157 ]

Section : Discipline1

Q.1 f=afaf@a # @ wi= a1 Gamedes feherivar o1 Yah Ageygef ik A1d Rt 872

1. e 3R Wifdes srRor
1. urRg sifRae

. =R Seieft AR
IV. TraTa=rg 3R giwor

Ans B 1| llquTIv

o 2.0, @V
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P SERRIES Y

p SR

Question ID : 71939924159

Q.2 3ruETRe e yune! & dday @ A=faf@d & @ &9 av/d su= adt 82

|. ST AT A2 e ol | goar @ A &1
I1. 39T F3ft ot fawia & a1y &S ueaer dey gl 81
IIl. 7 SftuaTRes auT AR-sftu=mRen frei w1 srquzes &l &1

Ans 1, 11Furlll
p AL
25 3 @
o 417

Question ID : 71939924177 ]

Q.3 fFfafea 3 & o a=ai | gfS iR fawma & wwnfaa = aren siiaRe Fre 78 87
Ans X" 1 qrETfors vt

o 2 T FrE

25 3. Srrgeifiena e

X 4R

Question ID : 71939924162

Q.4 with & gER F=fafEa 4 9 &9 arag 82

1. 31form ) T=af &t AR & @ Tftha 817 & EwRl & ue HA 1@yl
1. st Y g & IR F 19 & o= Afse I i TadEan gt Tfgul

Ans X' 1 g lATE Il
25 2 el
53 e |
W 4 1@

Question ID : 71939924174 ]

Q.5 Ffafea d & o 3R uwR Fi fNen & T & wdt 78 &2

Ans X" 1. gcch BT Y 3Gk T o TRATTAd Gl T Sfeeliohe qUT GHE H Ha el 81
W 2. 53 o 3 Rer sfta & TR # gderferd Rrari @ 71 o1 A # weg awar 1
K 3. Tt T o s oree e 5 T A TR G Hag AT 21
25 4. vl o Y gt il & ey W ol e a9 G § Heg el 8

Question ID : 71939924178

Q.6 TRt fALdT i dgar T+ & g Tger gRT FAfafEa § @ w9 a1 orf foar s awar 82

1. Thet A wrefral & ufaumror & gfg
1. Thet & ferenl & Aleret Y SIgTaT 3T
1. fvgrent ot Tl e

Ans X" 1 |l qurlll

2.1 @
25 3 @
2 4@l
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l Question ID : 71939924170 J
Q.7 F=faf@a d @ &9 a1 adtenr § Sad gRT g Perer a=al # 9 wiere ol s &R Gahar
?
I. &°E EI9 e St H2red ufa o ggaET

Il. B &t dicaTRd R foh & faaR owd I9a @ @ a9 &R
111. E&7aR0T h! HicaTiad e, foret 2T 77T uts & v & ffar ofk arer day R ik €1

Ans X" 1| g Il &t
o 2.1 @
p AR
p EAECHEE

Question ID : 71939924163

Q.8 f=faf@da & 9§ fhd 2res T IUART HhRIeHS A& gEIheuT & g g1 farar Si1 derar &2
Ans X1 e

W 2 =

5 3. Frer

R

Question ID : 71939924160

Q.9 fA=fafaa & @ o= a1 S &Y rageRdar 82

|. U1 9 g1 =l
1. =af<h &l Ut &R Ay &= Tniea|

Ans  of 1 | qor il G
25 2. el
p S IE Sl
5 4 Fad |

Question ID : 71939924176

Q.10 fFAfafaa # @ fFd YR &1 ust ST & Iusey S (I AfRTH) F Mt ST+ 3R I8 I
fvhed fauarsit & a1y Y@t ot 6 srgafa a1 g2

Ans X 1 SR o
5 2. sfgauy
5 3. aRom u
W 4 el us

Question ID : 71939924161

Q.11 foreht =afer & e & fAem i o= e gl &2

. ag eIt et fYeror Slere wer orar & St 32 shta # &t & & e iR, aafas
qAT GHIfSIh U d IR a1 gl

11. I fRALIT Teh TaEY THTST hl Y @A | Agg el § Sit FATST T Tguret Iui=hrait
AT ULAeR) bl FTR T 21

Ans X" 1 e |l
p R S
W 3. 1@ @
25 4. Fae |

Question ID : 71939924175
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Q.12 fA=faf@a & @ &9 91 U a=2 ot nfafaf R @@= & fog ok & Gepar 82

7 1. 9 ) & g R B

2K 2. Rigieh GRI FehRIcH AMTeeh GadIhor
W 3. g & o

5 4. <R Srga
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Question ID : 71939924166

Ans

Q.13 P=fafRa d @ o Rerasfie aaferat w wremne &1/ garea /82
1. MreTg e # Asrrt & sl @l oreifdd wwelt &1

TG gHIR HegR <hl DRl & &9 & &hrf el g1

. WTa-TTeHeh 31T & eafohea & ERTE et @1

p AECHEE

2. @

X 3. 11 i &
p A

Question ID : 71939924164 ]

Ans

Q.14 FA=afafaa & @ ford aafera Y srauRon & dga e &1 forar ST gepar 22

25 1. g oafn for ok @ weran 21

5 2. v eafn fore o @ a1 o 21
W 3. 7 =f g re @ Pofr dar 21
5 4. 7o oafh For o @ ohrdf el &1

Question ID : 71939924165

Ans

Q.15 2 ¢ & o=a & forg Feafaf@a & @ sl w1 fawma amds @2

25 1. =R & g T SR Al Teer @ SR g Gt ol e & e &
5 2. e et @ 41 off 7 Teha

o 3. T R e & e e 2, e Tl 8, S Tl 8

25 4. === @y 3R g1 R Tehat 2

Question ID : 71939924168

Ans

Q.16 Which of the following disabilities can pose a threat to children in the process of their
education?

|. Physical deviations
1.
lll. Problem with language and communication

Sensory impairment

5 1.Both land IlI

o 2. 1and i

Z% 3.Bothlland Il
75 4.Bothland II

Question ID : 71939924167 J

Ans

Q.17 YRdT urRules fAen yorelt & dewu & Rafaf@d § @ < 9/a suT ag &2

I. 7 7 af |t & forg geft oft aur 7 & 399 FiE a1
1.

Tg afea d gefid o aur enfifear Igea & wwfda o
F AEE UK
25 2. e |
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Question ID : 71939924169

Q.18 Which of the following is NOT a learner related factor affecting learning?

X 1. Goals

x 2. Motivation

Ans

“ 3. Communication

X 4. Attention

Question ID : 71939924173

Q.19 frer o1 1R S1fAfRra™, 2009 & SIUR, ugel @ uiwdi wen & g ges af & fohas gaw
& feaq fi smagerdr gidl &2

251,180
25 2.220
25 3.240
W 4.200

Ans

Question ID : 71939924171

Q.20 dfeer gRT 1835 & Heheu A Gt aral # fAfaf@a d A wlg ara?

1. favarer ufveror dur=t i TaTI=TI
Il. PR eht SRR UTST & T4 & FHTE & ar )

F IR Sl
75 2. |
o 3. Fa
p AR

Ans

Question ID : 71939924172

Section : Discipline2

Q.1 fFr=afafeEa # @ 9 av& Reor f D« ge faf & Rgia &2

1. geTyfd @1 fagia

II. 3ia:2rferal & sifVeafhanzor &1 fRAgia
1. AGfifer T@ura @ Rgia

IV. e @1 Rigia

& L nani
25 2., a v

o 300 mav

25 4, @ v

Ans

Question ID : 71939924187

Tegofl auT geTail & T FHE oref &2
X 1. e R
X 2. eh-diEs gr s
o 3. TreTE-ameRa fReror

Ans

Q.2 fveror i fora Aht &, ag wr= SiTen & s heim & 9ot gl o1 aFaaT TR 9 9T Qe ST @ auT
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Question ID : 71939924183

Q.3 forw feror Iurm H, vy & ureaqwaeh ot 9 TRy SIGURUM, IETER0T 9T 1WA &
WUSR g & ©U d A1 STt & ek freror-sifrm uferar & forg smazaesar gikdt 82

Ans X 1. TRETCH U
X 2. srefiar b summ
2% 3. qeran smeRa SumH
o 4 v dfa s

Question ID : 71939924185

Q.4 feror i fore fAfY A, faenffat ) @lsrerat ar enfarserRen & ™ W= @1 ST 87
Ans X 1 e gEyE R

K 2 T ge

253 e Ry

V 4 RRwRfy

Question ID : 71939924188 ]

Q.5 Which of the following statements regarding multilingualism are true?
I. Multilingualism can be a hindrance to personal development.
Il. Multilingualism can be termed as an expression of cultural richness.

Ill. Multilingualism makes a person more tolerant.
IV. Prevalence of multilingualism in India has halted its economic development.

Ans  of 1 i1and
25 2. 1and 1l
< 3.1 lland IV
25 4.1, 11and IV

Question ID : 71939924196

Q.6 SrEwie & ATeaH | Hiet 7€ SRt A i & fog Pafatea d @ s St oftrar st gre
I hY ST Jehell 22

1. 7 &t 9 forarait Y sjaelt aHTeRR ST AT
1. 3t 71 agait Rt g2a & wu F Rwm # wR i

Ans o 1 | @
5 2. Fad |
253 e
2 amdiad

Question ID : 71939924181 J

Q.7 g SIRNTH IURT H, &l | TS ZRI hiI4 A Frf fhg s1rd &2

1. Tg ot fAmfor e
II. Fg & SUWoT & ST I AT
IIl. &g # S1fm uRursT &} FRfhe @

Ans &1 jF I
25 2.0, na
25 3 @l
4@
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l Question ID : 71939924193 J

Q.8 Which of the following is a focus of peace oriented pedagogy?

Ans X" 1. Only retention of concepts
x 2. Achieving individual goals
x 3. Only memorisation of tests

“ 4. Learning to collaborate with others

Question ID : 71939924179

Q.9 Which assessment strategies are used in constructivist assessment?

I. Oral discussion

Il. Mind mapping

Ill. Pre-testing

IV. Hands on activities

Ans X 1.1,lland IV

25 2.1, 1and IV
o 31,11 1land IV
X 4 and

Question ID : 71939924186

Q.10 hicd & Afes fi GreTfinr fem Aeht & IR & F=faf@a & 9 w9 9/d = T &2

I. ag ok <t srder sidmfa R AR &=eft @1

I1. fvemeff =i & fa=cuor o1 IuTiT Fed & aUT ATaEIRe, TRTeHS SURR SO UHE Shed
2l

1. fremeff ot oY grT et & forg gl A o et Ui ot &1

Ans X" 1 | qurlll
25 2 1l
W 3@
p N

Question ID : 71939924189

Q.11 BTl &t fohe avg F IR At & S1a 3¢ Therargde srf o1 <A & forg Arar-foar ar
3T ZRT G, IUER T 3ich S AR Ry sira 87

Ans X" 1. SiiaRes SRuTaT aTE] SR @t
5 2. siiafen from
o 3. T Rom
25 4.7 a arfafen, 1 € agy SR

Question ID : 71939924180

Q.12 gt Ty AT o1 IUTHT s halT & 3feaTdeh ZRT i A hRIcHe TRUMH UTed fohg &1
Tehat &7

1. SYe1forer eTy
II. gm=fSies e
Ill. dgaR 3ideifthes ey

Ans X" 1 |l
25 2 1@l
o 3L
25 4@

[ Question ID : 71939924191 ]
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Q.13 & 3ru-t urs giwr & wrefieiro ot gfRfRa @ wfge?

|. UTS FISTHT | FeTd Gk GISTT | &g it ol AT e i srgafa S a1 ureasha ot
STeg QRT foRa <1 &1
II. s=A=Tg RARER SRt & SIRA AYSTT o) THTAT et 3|

IIl. &g uTs TS At T J FARAR FeiehT F Agayguf 81
Ans X1 |qurll

of 2. Faw il

p SR

75 4 |

Question ID : 71939924197

Q.14 Frafaf@a & & aar ag gufar § fk s R afts 6 vga= @ g gg &2

1. forett =R &Y o ag g21fdh @ foF ag fora nf & it & ST @ar @1
1. af uETIeR ot TFITQ TE=t J Wt Gk fAuifaes e 81
1. Teh SfRT UTHT el T Afh ot Teh Aeft S99 & *u & ©ier 78 forar s g1

Ans o 1 |Gl
25 2
25 3 @i
p SR

Question ID : 71939924195

Q.15 @s gr sifenmw fafy A=fafaa @ @ forg Rigia w smalRa &2

. afthaar a1 Rigia

1. arhyef fRia= @1 fRgia

I11. I&zaquf gl a1 Rigia
IV. faereal Y @t 1 Rigia

Ans o 111l FTIV
p SV ARIES Y

25 3
b SRR 1Y

Question ID : 71939924182 ]

Q.16 "M +AifSig g forelt fasiw mia &, fafvs sma anf A =aferal i e s aEd 81 596 g,
iehe TR UIferehl/darad shrafad & g Suerey gitl ag Rafafaa @ @ fag gta 3 wia
frg g sricrst a1 T IaTEROT &?

1. srafAe wia
1. Zfraes sta

Ans 31 | gl @t
of 2. Faw
p IR S
75 4 |

Question ID : 71939924198

Q.17 ferarereTa SMeTiRd SUNTH 1/ &RaT o1 8/8?

1. g 3rueft St J PR qur die= 6 71fa @1 FArefzor A & forg srfes Sueey s=mEr 21
II. g T-31fm Y eran el a=ar g1

1. frem=ff & @it emarsi, T & T o1 Pedichs aUT AY A I Teae St anTarsit or
forerra g 81

Ans
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Question ID : 71939924192

Q.18 Which of the following forms a part of the assessment in learning-centred approach to
learning?

I. Peer and self-assessment
Il. Integrated assessment
lll. Students and teachers agree on feedback timeframes

Ans & 1 Jland IIl

25 2. 1and Il
25 3.1and Il
o 4 L land i

Question ID : 71939924190

Q.19 Which of the following teacher learning method is a projected aid used by a teacher in
teaching-learning process?

Ans " 1 Chalk board
“ 2. Epidiascope
x 3. Field trips
X 4. Photographs

Question ID : 71939924194 ]
Q.20 fA=faf@a & @ @9 /2 wiet & SSTTcHeR f[AehrT STaeUT & Hu=TiRen TfehaT SraeT & wafor
&
I. G2 erreRfare &1 A
1. forami & wvguf am=iie?or
1. uRerfeaea et aur fRafaa s g A 6 giaar
Ans &1 |l

o 2 1@
25 3 @
p Ak

Question ID : 71939924184

Section : Discipline3

01 B w e e o e e e

Ans X 1 o gHae A &) Ry Ty Rigait & Arerm @ Wi R off Hae & P g 21
25 2. af 2 T U GER Y 1ed €, At I et g el T gt 81
25 3. &R (arh heft ) o guae figal @ g ggea 21
W 4. 1 fig & Faet o Targ it o aardt &1

Question ID : 71939924202

Q.2 =l &l TE a8t @ Thel 1 ITANT AT dUT @+ & Gem g9 & o R=afaf@a o 9 fra
ifaf=hs Tgurer i srrasgehdar &?
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|. ©hel IR IU-Zh134l & 3ich=T @ a=al ot R T

I1. ATOT g & H1Y Thed ohl I F9 & @

III. aTEafeh waTE ATd e A Uget SiaTS hl SFHE ST
IV. siars Y Tt &1 @ T SRR

Ans X1 |, l1@ut IV

o 2.0 @

5 3. ae v

25 4, @ v

Question ID : 71939924205

Q.3 ‘Hiew U fies 21eg @ o M @1
Ans x1.ﬁ—a

W 2.4k

5 3.t
X 4%

Question ID : 71939924203 ]

Q.4 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Cock-and-bull story
Ans J 1. an absurd tale

X 2. attend to

X 3. investigate
x 4. Establish oneself

Question ID : 71939924213

Q.5 Choose the word that can substitute the given sentence.

A book of names and addresses
Ans X' 1 harangue

x 2. memoirs
“ 3. directory

X 4. cenotaph

Question ID : 71939924212 ]

Q.6 fFg af & are auT 71 Y Hife Turel wY YR THE ZRT ST T A1?
Ans 5" 11962

5 2.1966

W 3.1956

< 4.1967

Question ID : 71939924204

Q.7 Fr=faf@a wu=l & @ o a1 agd &2

. Qo SiTa, Qeh $€ AT STHHT HTATHI dTefl T SRR 6l agail @t a1 & 19 § S STrar
2l
I1. Teh 9T T «iars, Tiers aur Fard RIeR g 39 Tk 94 & 919 @ ST SiraT gl

Ans X' 1 e |
W 2. 1@niEe
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Question ID : 71939924207 ]

Q.8 f=faf@a d @ i 91 Y= 999 - 919 &) g2far 82

1. foreft opref <Rt gRT vt A g TohareT wwg et 82
I1. T we R & e afea g2
111. 3D a¥g gRT fawufoa art i ammi

Ans 1 | l1Farlll
25 2 1
25 3 i
4@

Question ID : 71939924200

Q.9 Choose the word that is opposite in meaning to the given word.

Hatred
Ans X 1 safe

25 2. loth
( 3. liking
X 4. host

Question ID : 71939924209

Q.10 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

We have time to catch the flight.

Ans 1 yet
x 2.and
o 3. stil
75 4. without

Question ID : 71939924215

Q.11 When new behaviour is acquired through observation alone, then the learning appears to be

I. dramatic
Il. cognitive

Ans & 1. Neither I nor Il

o 2. only i

75 3.Both land II

< 4.0nlyl

Question ID : 71939924217

Q.12 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Go out of one’s way

Ans X 1 abandoned without support
x 2. to be plain and evident
X 3. laughing out loud
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Question ID : 71939924214

Q.13 Sfi= foramt & Afaes fFofa & fRigia d faea a=or 47
Ans x1.4

X 25

W32

543

Question ID : 71939924218

Q.14 ____ 3riepfar # g FAYSITRR Wheteh g1 € (T SHUR a7 e A1) A oimadR wR sruR & 9w &
ST ST @ 9T i SITadTehR Wetes Sit Prepivfia 8k & daa< gla €1

Ans X1 fyaa
W 2. frm
5 3. frifare

4.

Question ID : 71939924201

Q.15 Concept of reflection in geometry is similar to the reflection in mirror. Reflections create
in figures.

I. Dissimilarity
Il. Symmetry

Ans X" 1.Bothland i
x 2. Neither I nor Il
25 3.0nly|
W 4 onlyil

Question ID : 71939924206

Q.16 Choose the word that means the same as the given word.

Guest
Ans &1 grow

\fz. visitor
x 3. enslave
x 4. host

Question ID : 71939924211

Q.17 Improve the bracketed part of the sentence.

Raj bought an apple (with) a shop.

Ans “ 1. from
x 2. at

X 3. No improvement

X4.to

Question ID : 71939924208

Q.18 Choose the word that means the same as the given word.

Force
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Ans X1 easy
X 2. sorrow
J 3. compel
X 4. TRUE

Question ID : 71939924210

Q.19 In metric and imperial system both, which of the following is/are the types of measuring
units?

I. The base units
Il. The derived units

Ans X" 1. Neither | nor Il
o 2. Bothiand i
25 3. 0nlyl
25 4.0nlyll

Question ID : 71939924199

Q.20 &R & farg aifnmy o1 9@ ngaquf Jura _____ drex @l

I Teer &
II. STaTa 33

Ans X' 1 e |
X 2 1qur i g

o 3. Fa
p R S

Question ID : 71939924216 ]

Section : Discipline4
Q.1 Frafafae § @ Fi a1 wen Rart & smie & siarfa Tdi s &2
Ans X" 1wy gl 3@

X 2. fram 3 e & o Y it e

27X 3. R & aame 3 o Y sita @

o 4 T (=) & Site @

Question ID : 71939924227

Q.2 Which of the following is not true regarding ‘free activities'?

Ans J 1. They focus attention on the language
X 2. The atmosphere should be informal
X 3. There is a genuine communication

X 4. There is often a game element

Question ID : 71939924226 ]

Q.3 Which of the following is/are the other sign systems except ‘speech’?

I. Writing
Il. Numbering systems

Ans X" 1 Onlyll

X 2. Neither | nor Il
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25 3.0nly|

o 4. Bothiandli

Question ID : 71939924219 ]

Q.4 Which of the following components can be categorized under Socio - cultural environment?

I. Political Institutions
Il. Industries

1ll. Landforms

IV. Community

Ans  of 1 Bothland IV
75 2.Both land II
#< 3.Bothlland IV

25 4.0, 1and

Question ID : 71939924220

Q.5 A= fAeror A @ nfae 8?2
Ans  off 1 siftrm &Y AR B v < B TR R & g it s
25 2. sl 3R Rt 1 SuaiT e T et
25 3. af selt & forg Suges gt e @A
7 4. R veR i gl ok ware it Riftr TR & et/ dieder o @ sy w90

Question ID : 71939924236

Q.6 fAm=faf@d & @ == a1 g IugiTht dhager 1 & =ror 2 & mnfAe g2

|. AT T 2T TE AT
I. gRfaw s s R+ @

Ans X" 1 e |
X 2. @3N
K 3 AR
o 4 Fa

Question ID : 71939924235

Q.7 Which of the following is NOT a type of formative assessment in EVS?
Ans X 1. A pop quiz on any topic of EVS

( 2. Giving a term-end test on all topics of EVS.
X 3. Pairing the students and asking them to discuss..

X 4. A trip to nearby forest or a park.

Question ID : 71939924224 ]

Q.8 F=faf@a d & = it Aol = ditpfas sHwr) & nfae v mar @ ot s @R ges &
AR Y U Y A 82

I. EER
II. Rereraf a1 IRt H fieht

Ans  of 1 qori i@
5 2. Fad |
3 AdeRad
25 4 el
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l Question ID : 71939924234 J

Q.9 Practising new structures and functions is a purpose of which activity?
Ans X" 1. Writing at word level

“ 2. Writing at sentence level
x 3. Writing at text level

x 4. Writing paragraph level

Question ID : 71939924238

Q.10 Which speaking activity is carried out in pairs or groups and often involve pupil’s asking and
answering questions?

Ans X" 1 Reading aloud

f 2. Information gap

x 3. Retelling a story

x 4. Role play

Question ID : 71939924231 ]

Q.11 vafaror & g=f d Ao 4 @ <9 91 sy 7eq 87
Ans \fmwfamam?mf?rﬂm,wﬁ@awamﬂfﬁra@mﬁémm%

25 2. gafaror s ael &Y e Tgfe aun A i aRast & g1 Sea auT SR g &
A el 3

25 3. yafervr siera @ e aum Ao e SR e & s wruflies @R o e R
ST

X 4. qafeaRuT ST T I Fdi H I ATATERYT & YUIdTaTs! a7 Yehlhd URYed ot faerferd eer
8, S8l a5 IgaT/ed! &

Question ID : 71939924221 ]

Q.12 On what criteria’s can the self-assessment questions be asked?

I. Pronunciations
Il. Stress

Ans 5" 1 Only|

25 2.0nly i

x 3. Neither I nor II
o 4.Bothiand i

Question ID : 71939924229

Q.13 FA=faf@a d @ @i ar 'fvg-snulRa o 'S desf 7 ot 78 82

Ans X 1. el ueh fova WR e Sfed aa G, UG Y v T, e &t ger & aiflies Agearygof gt
STt 81

25 2. Tl o et et S B wfshar <h Heg R Tehell @
5 3. 78 s ot R & edrd & o Y orgAfd 3T &
of 2. T et & Riaror a7 raf@d @ ot T e 2

Question ID : 71939924225

Q.14 fA=faf@a & @ foraert Suaht wgri-smenlRa wrf & a1y frar s gerar 82

I.oa aur et
I1. ifEat &t ReptfEm aear

Ans X" 1 e |l
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Question ID : 71939924237

Q.15 fA=faf@a 7 @ fFa ol damrenes orifaal 7 anfae forar man &2

1. T AT
1. sifem o=

Ans &1 S |
2X 2. 1@
s adsRad
4 Faa

Question ID : 71939924233

Q.16 @@= fafafd & 'urs TR R d@= fohg & siaefa smrar 8?2

I. STt
II. fereRor

Ans X' 1 e |
25 2 el
K 3 agisiRag
v R

Question ID : 71939924232

Q.17 = & & fore a=or o1 Iui v  fRArameff 6 S =t vieafaa w4 & fog, sit g+ & forg
oRa AT g?

Ans “1_13—_19[@@
& 2. g
K 3 R & uga

5 4. gfear oy

Question ID : 71939924230

Q.18 Through which of the following themes, plants are introduced to the children in EVS?
Ans 3" 1 Shelter

X 2. Travel
“ 3. Food
x 4. Animals

Question ID : 71939924223

Q.19 F=faf@a & @ @iF-a1 qid & e & g & yHoT 1 U S22 T8 81 Iahar 87
Ans XL@a’faﬁmwﬁﬁ@U&ﬁaﬁﬁaﬁwmﬁﬂmgﬂﬁ

5 2. BT Y SRR & YR R Grefl &) arfigpd et qert 2 7 fafdera & 1T Y vgw & W
g

o 3. o et & e T wem i
X 4. B ol et i st faLiedraer & 3fdR ot Sraeiieh ekt a7 Repie oet & T&td gift

Question ID : 71939924222
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Q.20 fA=fafaa & @ @= a1 gefte o v ffwan 82

. TS okt Teftert auT IRifAd @Al
1. TgeRTd Rl B FHTI

Ans X1 e |
W 2. 1@ @
K 3 AadeiRad
25 4 el
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Section : Discipline5

Q.1 F=faf@a d @ Fi= @ R g fasma & wriies & fAemor - B i aferar = J
&S &R Tehell 87

I. 3= AT JET wR are- e & sgaear s
II. T SETYE aafehal aUT ST hidehd! & 1Y B o faarR-famsf Y saawur e
I11. ok hETT T ITATERYT ST T g HRIFAT A« & STl |duret ol |re forar e g1

Ans X" 1 e Il

o 2.1

25 3. et
P Ak
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Q.2 e e & orgaR, R=fafEa # @ aar dmfe RAfd 6i fadwang &2

I. a2t o1 SrauTigds Ut aéte aiffavor
I1. Tg-Tsitl AUT ITIhH T ST TehT
I1l. TTATHR heTT <h! TeradT @ a=res Fawt 6 @lst

Ans X" 1 |l qurlll

25 2 1@l
W 3L
p A T

Question ID : 71939924251

Q.3 “The distance between the end points of a line — segment is known as the length of the line
segment.” This above statement defines which of the following?

Ans X" 1. Collinear points
x 2. Line segment

( 3. Length of a line segment

X 4. Ray

Question ID : 71939924247

Q.4 Which of the following subjects can be categorized under semi social sciences?
Ans X" 1. Anthropology

X 2. Linguistics
x 3. Geography

«. 4. Ethics

Question ID : 71939924242
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Q.5 Which of the following fields can be categorized under Biogeography?

l. Zoo Geography

Il. Environmental Geography
lll. Regional Geography

IV. Plant Geography

Ans  of 1 1 1and IV

25 2.0, and
< 3.1 lland IV
25 4.0,1,11and IV
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Q.6 Which of the following is/are the types of range?

I. Inclusive Range
Il. Exclusive Range

Ans  of 1 Bothlandll

25 2.0nly i

X 3. Neither I nor Il

< 4.0nlyl
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Q.7 <AETEA T YT AT 3R Sitd e & i @ afafafd enfae &2

1. eregt ot Rt & e
I1. @it T STTAT FRIT

Ans X" 1 e |l
2 adeRad
W 3. 1@ @
25 4 |

Question ID : 71939924239 ]

Q.8 is which cannot be accepted but is proved.

I. Formulae
Il. Postulate

Ans &1 Only |

o 2. only i

X 3. Neither I nor Il
5 4.Bothland II

Question ID : 71939924248

Q.9 Which of the following is a popular model of Integrated education being practiced in India?

I. Self - contained class
Il. Resource room

Ans X 1. Neither I nor Il

o 2. Bothiand i
25 3.0nly|
25 4. onlyll

Question ID : 71939924257
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Q.10 Fr=faf@a & & e ar gerfrazor fran & fAfga &2
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II. 7Tg G &t ST AT
Il SETEET de UgH ht Har Al

Ans &1 |l

2 L@
p ERECI
p N T
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Q.11 ek fAgror-3ifenm uferar # urewshn & aR & fA=fafEd A @ &9 9/ su= adl 2/87

. Qeh UTSashH Ueh fAfAe sl & soar @
I1. 55 anfAe fohg o= ot farwa, 33k S1meiel, STeRR SMraLdh iR g 71 s arwft ofiR
forett oft 3= uTEifiTeR SRt Rt e R SITaT @

Ans "1 e Il
K 2. agisiRag
25 3. e |
o 4 1@ e
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Q.12 "3iferfte &l 0, gRT AT ST 8", T &1
Ans X 1. yftRarenes W

X 2. ereREfea I

X 3. &urfe 5

of 4 querE T
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Q.13 Radius of base and height of a cylinder are 28 cm and 5 cm respectively. What will be the
curved surface area of cylinder?

A1 440 em?

Ans

v 2 880 cm?
X 3 1760 cm?

X 41540 cm?
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Q.14 fFA=fafaa § @ w9 918 wen d faa yer & Y ysars gftwior @1 Iugin & & a1v 82

1. sifdrmar getefigef ofik e gt smaT 81
I1. BT &t T fir SRR upfa 1 gEgu gar 81

Ans X1 FE | SRAE I
25 2 el
W 3. 1@ aE
25 4 |
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forg, Rafaf@a A @ farg T iR gas T &R smatfSia eear anfae?
Ans X 1 memrer

25 2. e

{3.31@4‘3?{

75 4. e
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Q.16 fygror s & forg i & gt giafAer gftetor & & A S s 82
Ans x 1. T gf¥ator

W 2. TEificd g

/X 3. enfashr gfdetor

X 4. geams fta
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Q.17 e &I vgpfa & ar & FAafaf@a d @ @i a1 wu= ag /82

1. gAY TeATd R 3 dUT YA giA areil gidl &1
I1. Wiy & SrgATA & I | ekt Y =T sfagr g1
111, 7 sfaeTa gt @ AT & varst aun Iusfeaal & S«fda g1

Ans X" 1 e |l
o 2. i @

25 3 a
X 41 qun g
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Q.18 Uk fIoH &1 SR 31mad &1 31ad &Y oivars aut Aers shasr: 14 .t aur 5 .t g1 af fem
& Farg 10 |.+0. &, at e &1 e gty Ssrohet aram ghm?

X1 640 A2
Vv 2 520 @2

Ans

X 3 720 HHT2
X 4 630 THY?2

Question ID : 71939924246

Q.19 Which of the following is/are the tools and techniques of assessment of mathematics
learning?

I. Written, oral and performance tests and tasks

1. Projects and assignments
lll. Child’s participation in performing mathematical tasks

Ans X 1. 1and il

25 2.0nly|
25 3. land Il
W 4 L land i

Question ID : 71939924250

Q.20 f=faf@d & @ 4 a1 Fy= o T H ugfa & ar g 8/8?
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Ans

1. eremaA & fwg & wu § S e & 9t @ J aehfa e, amg-2rs, &g,
Srefamme, ater anfe St fawrr anfaer &1
1. arTfSies famm fava uefa & g wu & siafdwas aur st g1

1. STfSiek AT & UTSwsh ol dheara 9wy 39 fAfra Rl & ary gdhiga fhan s anfzgl

v SRRIECTT
X 2 1 g

p SEAE
25 4@ i @
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